Appendix A : Protein variability for constant tran scription
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The standard linear noise approach-is described in detail in [2].

Note that in this article the authors defined Mij= ?:’; Kij instead of My= -~ <,r> 22K ij in [2].
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Plug (25) into (24), we can ge‘t (2b).

A.2 mRNA autocorrelations
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Solve Tnpwn () .
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Oh nein.. Schade. There is S) i this ODE.. Non ti preoccupare, lets use Loplace Transform
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To explain (34), Since we have f‘\\(’t)=ﬂ Exp(ﬁt)
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Appendix C: Protein variability with periodic upstream tronscription rates

I only show the cose without mRNA. interactions
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Dengte the time—dependent ensemble averages conditioned on the history of (.
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Again. use Laplace Transform to solve Iam(t).
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Then solve -for Covlm,2).
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